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Answer any five questions

1. What is ‘feudalism’? What were the factors

that led to the decline of feudalism? 5+10=15

2. Give an account of the Protestant

Reformation in Europe in the 16th century. 15

3. Discuss the factors that led to the rise of the

Absolutist State in Europe. 15

4. Write in brief about the causes of the French

Revolution. 15
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5. What is the Concert of Europe? Why did it

fail? 8+7=15

6. Write a note on the developments that took

place in Germany from its Unification to

1914. 15

7. Examine the factors that led to the outbreak

of the Russian Revolution of 1917. 15

8. What was the Peace Conference of Paris,

1919? Discuss the provisions of the Treaty of 

Versailles. 5+10=15

9. Give a brief account of the causes of the

Second World War highlighting on Hitler’s

responsibility for the outbreak of the War. 15

10. Write short notes on any two of the

following : 7½×2=15

(a) Mercantilism

(b) Agrarian Revolution

(c) Garibaldi

(d) Kaiser William II
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